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(in FEPNE: RR-IP Ro 5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
WM 19,070,222 30,183,513 A11,113,291
= 285,023
Jl 1,949,133
= 1,462,339
Al 16,373,727
gdsisHN 2= 5,186,114 4,762,833 423,281
< 508,690
Al 4,677,424
NS eIt et 3,632,604 3,490,344 142,260
= 275,690
Al 3,356,914
d=Usty NSGadst 298 609,016 442,616 166,400
201 Ler=23 | 20,000 0 20,000
2 s5=34l 20,000 0 20,000
o3 750,000 x 122 9,000
Oolr=ERs= 155,000 ~ 128 1,860
O&D| &l et 2tel 120,000« 12& 1,440
Osdll RA=E= 200,000 122 2,400
OAZAE 88 & 2+ = 800
OAlE EHIS Xl 4,500
306 E¢= 589,016 442,616 146,400
01 £g= 589,016 442,616 146,400
Od=Ust XSatdstit 29 589,016
sS85 & 103,200
stit 2¢| 485,816
SIAIH A 545,000 499,000 46,000
202 048l 6,000 6,000 0
01 2L AH| 6,000 6,000 0
Oocleggs =80l 6,000
203 =] 3,000 3,000
03 A=A 2= 3,000 3,000
Ou= & MFAHE AR 3,000
306 £= 536,000 490,000 46,000
01 9= 536,000 490,000 46,000
O Y £d= 170,000
O3 AT E ALY 366,000
AR (S DEHEAY) 340,000 340,000
306 EX= 340,000 340,000
01 £g= 340,000 340,000
OESHSIME EH(ASDEHAAY) 340,000
wW=0A HEA 1,379,288 1,332,868 46,420
306 EH= 1,030,760 976,460 54,300
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SA: DEHSH
3 HdssHM 75
Rl BASsTAl Jlgte=E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsY Edsiguy =gl & 23,700
301 EtE N = 325,600 383,328 N57,728
14 JIEt 2 a3 325,600 383,328 N57,728
OS¢t BMsIsdH Z208 ZAH| X1 325,600
AL stE32 2FHEH 22 N (EX) 357,500 62,500 295,000
== 203,000
Al 154,500
201 2= 5,000 5,000 0
< 2,000
Al 3,000
01 At2telt] 5,000 5,000 0
ORFHisH 24| 5,000
= 2,000
Al 3,000
202 04dl 2,500 3,500 21,000
=S 1,000
Al 1,500
01 2K 2,500 3,500 21,000
ORFHi=H 28 28 £ 38 &84 S 2,500
< 1,000
Al 1,500
301 EtE NS 50,000 54,000 24,000
= 20,000
Al 30,000
14 DBt 2 a=S 50,000 54,000 24,000
OZSHISH ZAt=E 30,000
= 12,000
Al 18,000
OZ2SHISH UM &S] 20,000
< 8,000
Al 12,000
401 Al HIZL 201 300,000 0 300,000
= 180,000
Al 120,000
01 Al&H| 290,000 0 290,000
OXAN sts32t DFHHSE &8 At 290,000
= 174,000
Al 116,000
02 Zeltl 10,000 0 10,000
OXAMI sts32t 2SHHESH &8 ALY 10,000
[ 6,000
Al 4,000
Hol2olus T2 XJA(BX) 25,000 20,000 5,000
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B2l G MZ Lo |HE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 149,012
MLUHXIE 2 (EX) 218,706 246,300 32,406
= 114,203
= 57,101
Al 107,402
101 @124H| 221,592 214,800 6.792
= 87,296
< 43,648
Al 90,648
03 SR (RINHA) 222+ 221,592 214,800 6,792
OZRA 22X SH(HLLEA 221,592
= 87,296
< 43,648
Al 90,648
201 er23| 29,920 31,000 21,080
= 14,960
== 7,480
Al 7,480
01 AtR2t2lt] 29,920 31,000 /1,080
OFHAA MY & AIZ=2e| K& 2E 29,920
= 14,960
=S 7,480
Al 7,480
202 04| 8,000 500 7,500
= 4,000
=S 2,000
Al 2,000
01 2LHA b 8,000 500 7,500
OF A 2=t 6,000
= 3,000
= 1,500
Al 1,500
Ous & 2AA&EH 1,500
= 750
= 375
Al 375
OMEHHZE BRI 500
= 250
= 125
Al 125
301 EetE NS 1,080 0 1,080
= 540
= 270
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A NS
33 d3mgssd
Sl O MZYSHIME 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,520 2,520 0
= 756
Al 1,764
01 At2teltl 2,520 2,520 0
OF HaEA & RYEEA 25 23| 2,520
= 756
Al 1,764
202 04| 10,080 0 10,080
< 3,024
Al 7,0%
01 =LHO LI 10,080 0 10,080
OF LA & NPLTA 2S04 10,080
S 3,024
Al 7,0%
OEaEDIY SZBMLAIL(EX) 5,000 5,000 0
S 2,500
Al 2,500
402 2I2F X201 & 5,000 5,000 0
s 2,500
Al 2,500
02 I SASEZ(0IETHR) 5,000 5,000 0
O &z SFMEA 5,000
< 2,500
Al 2,500
HeFHLUAMENE & JIYHUEAIRSAME(EX 4,500 5,000 2500
)
= 2,250
Al 2,250
201 fet=23y| 3,780 4,200 A420
=S 1,890
Al 1,890
01 AtR2tc|Hl 3,780 4,200 A420
O gxgelAMet = 1,800
& 900
Al 900
OJIgH UESRA =AY 1,980
= 990
Al 990
301 EetE2 N = 720 800 N80
s 360
Al 360
11 AALAHIXIES 720 800 A80
OJIgH UESRD A=A 720
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SN DEHSD
33 d3mgssd
Rl HEMZeoIME2E (9
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 360
Al 360
gdat 12,904,510 24,537,015 A11,632,505
Il 1,857,9%
= 865,478
Al 10,181,036
dEHsE |4 956,346 905,763 50,583
) 477,9%
= 89,478
Al 388,872
MEHSWA 2H(EX) 26,974 26,974 0
= 8,092
Al 18,882
307 el2to| & 26,974 26,974 0
= 8,092
Al 18,882
02 QI BHANEEX 26,974 26,974 0
OdEMFWA AHY 26,974
== 8,092
Al 18,882
AP MEHS KIS HHXIALZ (2X) 184,128 177,848 6,280
Il 92,064
Al 92,064
307 elzto| & 184,128 177,848 6.280
Il 92,064
Al 92,064
02 2IZHBYAIHE A 184,128 177,848 6,280
Oggt HEHSA A HHRIAL 184,128
Il 92,064
Al 92,064
HEMMEUSX S BHXIAIS (EX) 184,128 177,848 6,280
Jl 92,064
Al 92,064
307 glztol & 184,128 177,848 6,280
Jl 92,064
Al 92,064
02 2B YAIHE X 184,128 177,848 6,280
N4l HEMSXN A BHXIALS 184,128
) 92,064
Al 92,064
ZOHR! MEHSXIEA BHXIAISE (EX) 61,056 67,283 N6,227
Jl 30,528
Al 30,528
— 13 —




SA: DEHSIH
33 M=s 243
chel: MENs 4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 61,056 67,283 26,227
Jl 30,528
Al 30,528
02 2IZHBYAIHE X 61,056 67,283 N6,227
OHNe H&HM=KSA BIXIAS 61,056
) 30,528
Al 30,528
MET LW 2 7,000 6,600 400
307 212+01& 7,000 6,600 400
02 LB HAHEE 7,000 6,600 400
OBt Sl ooz A ME2E 29 7,000
M ZuA 2H(2X) 60,550 60,550 0
= 8,085
Al 52,465
307 elztol & 60,550 60,550 0
= 8,085
Al 52,465
02 2B YA R E A 60,550 60,550 0
OdENSZ 2L 60,550
- HAE 58,800
& 7,560
Al 51,240
2gtl 1,400
= 420
Al 980
=3l 350
=S 106
Al 245
S4E SRUA 2H(EX) 10,140 10,140 0
< 3,020
Al 7,120
307 glztol & 10,140 10,140 0
= 3,020
Al 7,120
02 2IZHBYAIHE & 10,140 10,140 0
ORAHE FFAWH 2 10,140
= 3,020
Al 7,120
MEHls S50 2|(Ex) 46,170 46,170 0
< 13,851
Al 32,319
307 lztol & 46,170 46,170 0
& 13,851




M WEHSH
g M= g4zt

Cel: MENE |4 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 32,319
02 QIZHEAAHE R 46,170 46,170 0
OME= S3212|(8X) 46,170
& 13,851
Al 32,319
ATZXAH0IBH KA(EX) 337,440 306,850 30,590
| 236,208
= 50,616
Al 50,616
301 LB F 337,440 306,850 30,590
| 236,208
& 50,616
Al 50,616
01 A BEAH 2 (R RNEETR) 337,440 306,850 30,590
OAEZ=EZE 0|3d At 337,440
| 236,208
& 50,616
Al 50,616
HOHUAZ=ANO0ISHAA 38,760 25,500 13,260
| 27,132
& 5,814
Al 5,814
301 LPENZ 38,760 25,500 13,260
J| 27,132
= 5,814
Al 5,814
01 Al B&XHZ2(2REETA) 38,760 25,500 13,260
Q&R A =2E 0I12A 38,760
| 27,132
= 5,814
Al 5,814
M=HAF W=l & X 2,765,150 5,029,570 A2,264,420
& 25,000
Al 2,740,150
MSEAL 22 XA 293,200 329,200 236,000
201 L2 | 7,500 7,500 0
01 At 22|l 7,500 7,500 0
ONSHAMKH SFE S| 3,000
OHM=slz 222 N& S 4,500
202 04d| 5,100 5,100
01 =WOdHI 5,100 5,100
ONMSHA FXIF& 5,100
301 LPENZ 1,600 1,600 0
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of
i’
oF
uJ

-

KIO

Hlw

27,000
27,000
24,500
14,500
13,600
2900
10,000
10,000

MEE
Ofl &k2h

1,600
252,000
252,000

30,000
15,000
15,000
15,000
15,000
40,000
392,600
10,000
10,000

442,600
432,600

20,550
8,550
8,550

12,000
3,000
9,000

154,000

Ofl &F2H

1,600
1,600
279,000
6,000
4,000
12,000
20,000
227,000
10,000
30,000
15,000
15,000
15,000
15,000
15,000
15,000
438,100
26,400
8,000
14,400
4,000
391,700
63,500
328,200
20,000
20,000
10,000
10,000
20,550

279,000
418,100

8,550
8,550
8,550
12,000
3,000
3,000
9,000
9,000
154,000

- SRA(E) - HIRAY
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S LRE-L
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o

e
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o
=
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=
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o
[uind
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=
=

LAl
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JISEHl X
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o
[uind

2|

=01

F

INE=1:1PN

=

HESFSA Al

2

Og&Al A

Ol

O

"

307 212t01d
307 212t01&
307 212t01™

JISE X
402

el

Ab Xl
101 2124d|

H

60
OF

2|

=

eia]
SHALKI 2

o
[

t

ol
H

[s1

04 JIZtNZ22XSE =
01 AFR2t2ltl

03

.

]
oll
60
ok
oF)
=
ok
ol
o

X

Al

K]

4,000

4,000
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2A:

WEHF

33 M=s 243
SRl MSEA Ozl & X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 4,000 4,000 0
Oo&lled =Xl 4,000
307 elzto| & 150,000 150,000
02 2B YAIHE A 150,000 150,000
Odlled FX & A LBHXE 150,000
MBS M=et0te 70,000 0 70,000
307 21201 & 70,000 70,000
02 QB HANSEER 70,000 70,000
02023 AlRlstel MI=etire 70,000
2elotE S 270,000 270,000 0
307 lztol & 270,000 270,000
02 LB HAHE L 270,000 270,000
OZeclotE =H 2 dIIlz= 270,000
= NBt=U=] 20,000 20,000
307 elzto| & 20,000 20,000
02 2IZHBYAIHE A 20,000 20,000
O=Hl Bt= Egd iz 20,000
=M B3 40,000 40,000
307 212+01& 40,000 40,000
02 QB HANEEX 40,000 40,000
Ogd 220tLE 2 23 40,000
&= JN0IES WE 20,000 20,000 0
307 lztol & 20,000 20,000
02 2IZHB A E & 20,000 20,000
O&= JNoIEE U3l 20,000
8= Zi= 40,000 0 40,000
307 el2to| & 40,000 40,000
02 2IZHBYAIHE A 40,000 40,000
Od=za=Uz 40,000
EMUEINE 8= U 40,000 40,000 0
307 @I2t01 & 40,000 40,000
02 QB AANSEER 40,000 40,000
OMUEINE OldAE2I| 8= EHH =
C e 40,000
8= =iz 40,000 40,000
307 elzto| & 40,000 40,000
02 2IZHBHAIHE & 40,000 40,000
OFEM JI8 d= =EU= 40,000
&= g+ Ua 42,000 40,000 2,000
307 @20l & 42,000 40,000 2,000
02 QIHEHAIEE X 42,000 40,000 2,000
Od= 2 g7 42,000
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of
i’
oF
uJ

-

KIO

Hlw

120,000
120,000
120,000
3,300
3,300
3,300

15,000
15,000
15,000

MEE
Ofl &k2h

10,000
10,000
10,000

30,000
30,000
30,000
35,000
35,000
35,000
30,000
30,000
30,000
20,000
20,000
20,000

ol &rey

120,000
120,000
120,000
120,000
13,300
13,300
13,300
13,300
30,000
30,000
30,000
30,000
35,000
35,000
35,000
35,000
30,000
30,000
30,000
30,000
20,000
20,000
20,000
20,000

15,000
15,000
15,000
15,000
50,000
50,000
50,000
50,000

- SRA(E) - HIRAY

- ESS

S LRE-L

3

S N

307 212+01™

307 212told

o
=

o}
Al

—_

)

U

100
K

i
KJ

2

3
Bt A=E4 i

BH =2 CH

307 212told

Sk

=
JI

L=
=
=

[
o

O

307 212t01&
307 212+01™
307 212t01&
307 212told

o}
r

L)
K]

&= ti-2ti=l

50,000
50,000
50,000
15,000
15,000
15,000
7,000
7,000
7,000
7,000

7,000
7,000
7,000
7,000

15,000
15,000
15,000
15,000
14,000
14,000
14,000
14,000
14,000
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2A:

WEHF

M s Z2dat
CHel: HMSA HE & KA (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 QI AANEE X 2,000 0 2,000
OEHAZ AU E] 2,000
SIS 25,000 25,000
307 212+01™ 25,000 25,000
02 QIS EX 25,000 25,000
OFEEN 2EMEU= 25,000
&= QO HILIA CHE 7,000 7,000
307 212+01& 7,000 7,000
02 QA LAIEE X 7,000 7,000
Od= Lol "Hua el 7,000
= MEHE ZAHUE 25,000 25,000 0
307 212t01™ 25,000 25,000
02 QI AN E X 25,000 25,000
Odcl=k ez 25,000
AN 22U 2 10,000 10,000 0
307 212+01™ 10,000 10,000
02 QIS EX 10,000 10,000
OANEH S5 ==zl 10,000
ANEI HOIEZ U3 7,000 7,000 0
307 212+01& 7,000 7,000
02 QIRIHAANSEE R 7,000 7,000
OAIZII HOIEEU= 7,000
AEII U2 10,000 5,000 5,000
307 212to1™ 10,000 5,000 5,000
02 QIHHAANGEE X 10,000 5,000 5,000
OAIEHY 337d& E-U= 10,000
AN =8U = 6,000 6,000
307 212+01™ 6,000 6,000
02 QIS EX 6,000 6,000
OAIZI =gzl 6,000
AMEI ZRU 8,000 8,000 0
307 212t01& 8,000 8,000
02 QIHHAANSEE R 8,000 8,000
OAZIl E2U3 8,000
AEII =202 10,000 10,000 0
307 212t01d 10,000 10,000
02 QA AANGEE X 10,000 10,000
OAIZI E20U= 10,000
ANEI| R =03 9,000 9,000
307 212+01™ 9,000 9,000
02 QI HBEANEEX 9,000 9,000




2A:

WEHF

o 3g 243
SR MSEA OHE 2 X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| ONEbH Xi2it2s? BHA=s 9,000
A BILIACHS) 7,000 7,000
307 212401 ™ 7,000 7,000
RIEE POV EES 7,000 7,000
OAZH #% 32 HILIA O3] 7,000
NERIEEEE 8,000 7,000 1,000
307 212¢01 ™ 8,000 7,000 1,000
RIEE PO EES 8,000 7,000 1,000
OAEI| a3l 8,000
NEETTE 5,000 5,000 0
307 212401 5,000 5,000
RIEIEPONEES 5,000 5,000
OAZII Z4TH3l 5,000
RN 6,000 6,000
307 212401 6,000 6,000
VRIEEPONEEES 6,000 6.000
O-RAIZI| FHA7H 3 6,000
SR Hoje! MK 6,000 6,000
307 212¢01 ™ 6,000 6,000
RIEEPONEES 6,000 6,000
O AIZORIHIS [H3] 6,000
NEAZZZY 2K 345,000 275,000 70,000
= 25,000
Al 320,000
307 212t0| M 345,000 275,000 70,000
= 25,000
A 320,000
VRIEEPONETEES 345,000 275,000 70,000
ONBAZZZY 29 345,000
= 25,000
Al 320,000
AMAI| 2 2 611,443 536,465 74,978
= 31,000
Al 580,443
AFAIIR(2) 2 N (LX) 611,43 536,465 74,978
= 31,000
Al 580,443
201 Leie ) 19,560 18,000 1,560
01 AR 22l 8,400 8,400 0
Of=4 2¢ Ye+ay|
700,00024 122 8,400
2 222 11,160 9,600 1,560
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M WEHSH
g M= g4zt

el AYgIIR 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogt=a 28 45 MM & S8 S 11,160
es=s 400,0002 x12& 4,800
Aaes 400,000+ 123 4,800
eIHUR= 50,000& * 122 600
- Aol R23 80,000& * 122 960
301 EtE NS 589,283 513,965 75,318
= 31,000
Al 568,283
2ozt - 2SFEsSEYS 589,283 513,965 75,318
OMEEsZIIF 24| 119,103
ditds 5,000,000& 52 25,000
== 25,000
==&l 4,000,000& 52 20,000
=S 6,000
Al 14,000
Hd=S=Hl 50,0002 74 350
- HAWE S 3,000
- dXEaE| 90,0003 *7H*20 2 x22| 25,200
- I =] 700,000% 7 H =23 9,800
g=a sAXE
8,000 x24!x7H =182« 12 24,192
AZ RN BRI 83,0008 %79 581
SHES & 2HARES
915,000 x6 2 *23] 10,980
OXEFSSFIITR 22| 470,180
== 293,092
4= 1, 21, &g+ 5
3,489, 1003 x7H+ 122 293,092
g2+ 11,236
2= 1, 2ZX 1, d=5
3,489, 1902 7 H*23%*22] 11,236
g2+ Jiits 1,920
-54~04 50,0002 x2& * 12 1,200
-10E~144 60,0003 * 12 720
- ZAHG A 140,000& x7 &+ 123 11,760
S EXH| 15,000
-5 250,0003x 1 +123 3,000
-2 175,000 x 12 * 122 2,100
- 165,0002 x5~ 122 9,900
SEFOHI 29,310
-E=5 1, X1, d%=5
3,489, 1902 x60+7 & 22| 29,310
sdg 250,000 «7H* 123 21,000
NEXt=& 300,000 2 *12& 7,200

_22_




2A:

33 M=s 243
el AYgIIR 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEl 170,000 7 * 122 14,280
ESE 4,320
-t 40,0002 x2&* 12 960
LU PE 20,0002 1 x 122 240
-= Mt 60,0002 x2& * 122 1,440
—SUR KHA 100,000 x 12 * 12 1,200
-2AHE 20,0008 =2 * 122 480
=JltHE==E 400,000 x3E 128 14,400
AUEEE MHARES 46,662
4= 1, 21, &5
5,050,000 *11%+7 S+ 12& 46,662
405 KHoHF S| 2,600 4,500 1,900
01 ML ESFSHI 2,600 4,500 21,900
ONFSEFIIR £2II7 2| 2,600
BHOIARIA 1,300,00024+20H 2,600
SLUHSIIZ A 208,800 208,800 0
Il 160,000
Al 48,800
SOMEISHH 28 & MBI RFH(EX 208,800 208,800 0
)
Jl 160,000
Al 48,800
307 gl2to| & 208,800 208,800 0
Jl 160,000
Al 48,800
02 QB AANEER 208,800 208,800 0
O=2HM=100 SMEISHE 2 208,800
Jl 160,000
Al 48,800
HSIIEAIE =5 8,362,771 17,856,417 A9,493,646
Jl 1,220,000
== 720,000
Al 6,422,771
HSAE =4 & Fdl 1,570,000 818,000 752,000
401 Al HIZL S 0HYI 1,570,000 818,000 752,000
01 Al&HI 1,566,652 815,858 750,794
Obt=ee M+ £X 210,000
Obtstel Med= BotgAle 2X
15,000,000 *237H 2-+99. 28% 342,516
OSSHEAIE bl
50,000,000 x98.92% 49,460
Obt=H? M=AE EH
30,000,000 *98.92% 29,676
Oz Fouat 268,000
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M WEHSH
g M= g4zt

S2lr XKIILBAIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
238 50,000
23 57 S=U EXAMY 5,000
-0t= M7 BIOIBAIE 2XIAE 45,000
=3 44,000
=S €8x M7 & HOEAE £
XA 44,000
oleH& 30,000
-2 MEI|IT HIDIBAIE X SA 10,000
Lo "D+ BIDIZBAIE X SA 10,000
-HE M| BIOISAIE X SA 10,000
Lgs 17,000
0SS =22 823J17 XA UlAb
& 17,000
ES= 7,000
-HE3E U 23017 02l 4Xl & 7,000
=Ad¢ 40,000
—=SXN% 883 A& HZ g MaEI|+
=Py 40,000
C 40,000
- A0S MED|2 HIOHE AlE 2R 15,000
-g&0kE a7 & 8oE AlE £X 25,000
Sus 40,000
-Sis ZXd L2 0l 2sJ17 I
e Xl BA 40,000
OA+2 21 sHZ AL 67,000
2EITHZ A2 HEI|7? 4X 30,000
CS3BE M+ HIOHEAIE €X 13,000
S4HFC|CHOHIEE M D1+ HIJHEAIE
=0 13,000
eHOIZHE HIDIEAIE &EXI 11,000
OF&=2 HSZE TAHEALE HBZE
9 100,000
O&e= M3 JILAIE HHIAMY 500,000
03 A2 20 3,348 2,142 1,206
OOI2ESl HEIIT HIOIRAA X
15,000,000 239 2+0.72% 2,484
O33HMSAlIE &bl 50,000,000 *1.08% 540
OntSH2 MSAILE
30,000,000 *1.08% 324
HEAEE 72l 1,232,771 505,609 727,162
101 21AH| 139,681 77,469 62,212
M ORNZZ2NSE S 139,681 77,469 62,212
OZEEZHESZE AEX2el 22X 56,814
== 76,9603 x2H 2282 35,094
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2A:

WEHF

33 M=s 243
©2lr MSIIBAIE &= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFEE=M=s3E &7 FAl2el 5,000
OFg=ds2 STIIEH Wl
3,000,000%69H 2 18,000
OMSAIEE AMEEHIKXI 60,000
OE=M=F3E dII8H L Ed
6,000,000& 12} 6,000
OXIZAAE 2me)| Ba
2,000,000& %12 2,000
OESZHSZ H4Z HA
2,000,000& =22 x2JH 2 8,000
OESZHSY LSHNE AT Ha
1,500,000 x12] %200 A 3,000
OHENE 28= 750
OoZsityg FFU 3,000
Oozsxtg 7l 1,000
Osg=rs2 dJ188 E9H|
5,000,000 22} 10,000
OFESHSZ ALAE HHSH
200,000 122 *7IH 2= 16,800
OsEHEAE ZII8E 89 12,000
ORNIBBAIEZ AEHEAMN EE EY 7,100
202 04l 7,000 7,000
01 2LHoIH 7,000 7,000
OMEsAE & FA2e] 7,000
206 M=l 22,180 16,790 5,390
01 MZH| 22,180 16,790 5,390
OFe=M=sd S SSMSAL NI 22,180
-HIEZZ 10000 100,000 1574 1,500
-HIEEI 2500 7Y 30,0002 *50H 1,500
- DI = 4000 2 50,0002 *30H 1,500
-HIEerE )l 2500 30,0002 *30H 900
- DIEeHED] 4000+ 50,0002 *207K 1,000
- HIEHED] 10008 7L
100,000 * 10H 1,000
- ZEEX 200 7 60,0002 *70H 4,200
- 2GR 2 SE S+ 7Y
600,000 *5H 3,000
JIEH I 2 2,000
SgdlE 2 15,0003 *60 £ *33] 2,700
&g, dold 7Y
12,0002 x25+30 2 *43] 2,880
401 AIEHIX R0 50,000 10,000 40,000
01 A28l 49,460 9,892 39,568
Ocl=gHy s & A4 "I Ald
=X 50,000,000 x98.92% 49,460
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2A:

WEHF

33 M=s 243
©2lr MSIIBAIE &= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al 20HHI 540 108 432
OOIBYHE XU U A G2 Al
=P 50,000, 0002 *1.08% 540
HSAE ¢ & FHI(EX) 20,000 84,000 64,000
=S 20,000
401 Al HIZL 2018 20,000 84,000 264,000
= 20,000
01 AlZ8| 20,000 84,000 264,000
OXSGL=E FOUFM0 A 20,000
HS0t= M=o £X 10,000
= 10,000
=SS0t HM&EII7F 8ote A8 £X 10,000
[ 10,000
SHHE SEIMISME ASALY 1,200,000 3,000,000 1,800,000
Il 400,000
Al 800,000
401 AIEHIZ SR HYI 1,200,000 3,000,000 1,800,000
Jl 400,000
Al 800,000
01 Al&H| 1,200,000 2,989,200 1,789,200
Ot =CIMSHE A8 1,200,000
Il 400,000
Al 800,000
EESHEISE NEE HESAY 900,000 0 900,000
) 270,000
Al 630,000
401 AlZHIZ SO 900,000 0 900,000
Il 270,000
Al 630,000
01 Al&HI 894,330 0 894,330
O=g=H=S2 ANEE 2=
900,000,000 *99.37% 894,330
Il 270,000
Al 624,330
03 AIZ 2 THYI 5,670 0 5,670
Og=Hss2 NEE 2=
900,000,000 0.63% 5,670
HAZSHFLE AMES HE=SA 400,000 0 400,000
7l 120,000
Al 280,000
401 Al HIZL S 0HYI 400,000 0 400,000
Jl 120,000
Al 280,000
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2A:

WEHF

33 M=s 243
SRl MSIIEAIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 397,120 397,120
OE2=aM=dE AME=E 2=
400,000,000& *99. 28% 397,120
Jl 120,000
Al 217,120
03 AlESTHYI 2,880 2,880
SRASSHSHE AL He
400,000, 000& +0.72% 2,880
EEEHFISE F7E HEAMY 1,200,000 1,200,000
Il 360,000
Al 840,000
401 Al HIZ 2018 1,200,000 1,200,000
Jl 360,000
Al 840,000
01 A28l 1,195,680 1,195,680
OFg=lssd =78 &
1,200,000, 000 *99.64% 1,195,680
Il 360,000
Al 835,680
03 Al SCHb| 4,320 4,320
OzgBUST 2 N
1,200,000, 000& 0. 36% 4,320
Al ARAE A (HEAIY) 1,400,000 1,400,000
= 700,000
Al 700,000
401 Al HIZ S OHbI 1,400,000 1,400,000
s 700,000
Al 700,000
01 Al&HI 1,400,000 1,400,000
A AFANE HE ALY 1,400,000
[ 700,000
Al 700,000
Jsis AZRA BgAHY 140,000 140,000
Jl 70,000
Al 70,000
308 AXIHS0IA 140,000 140,000
Jl 70,000
Al 70,000
08 WEJ|20UStEx 140,000 140,000
OJtafdldl AN B5AHY 140,000
Il 70,000
Al 70,000
HRZSNSHH 2L A 300,000 300,000
401 Al HIZL 01| 300,000 300,000
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2A:

WEHF

Hu: Hs 245
el HMSIIEAILE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 300,000 0 300,000
OHAZSHSHE cISLEAY A=LEH
9 300,000
col =X sd 272,300 206,400 65,900
< 10,000
Al 262,300
st LeISXAIE X3 272,300 206,400 65,900
= 10,000
Al 262,300
HOIESE JIsE 262,300 161,400 110,900
401 AlZHIZ S 0HbI 138,000 0 138,000
01 Al&H| 138,000 0 138,000
Oelgd HOIEESH JIsEY 30,000
Oolgd HoIEEE JIsEd 5,000
o238 NIESH JIsEd 50,000
Oss HNIESH JIs:EZ 15,000
OLSS HOIEEH JVISEH 38,000
402 2IZtA=01d 124,300 136,900 A12,600
01 QI XHE AL E (KM THE) 124,300 136,900 212,600
O=&H HOIEEH JIsEL 13,000
O=&H NHOIEEH JIsEL 3,000
Oss® HOIEEH JIsSEY 1,500
OsX AHNIESH JIsE2Z 25,000
Ot HOIEEH JVISEH 2,000
OAIHE HIOIEZE JIsE2ETAL 5,000
OE1H HOIEZH JISEZAL 1,000
O0[24E Wte| HOoIE=ZE JIsEd 35,000
OO0 HAHANOIESE JIsE2S 2,600
O0tEH HOIEEH JIsEY 36,200
HOIESE JISEL(EX) 10,000 55,000 /45,000
[ 10,000
401 A& HIX R0 10,000 55,000 /45,000
= 10,000
01 Al&H| 10,000 55,000 245,000
OXNSG LY FUFN 0l 10,000
288 MESH JIsEZ 10,000
= 10,000
AH 2 ZHI 103,955 103, 165 790
Jl=23H 44,920 44,440 480
J1=23H] 44,920 44,440 480
201 fet= 3| 22,940 22,940 0
01 AtR2te|H] 22,940 22,940 0




2A: BFEAHSU
Zu: #ESH |
&l D122 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Oger+gH| 18,000
oz 3,600
OUIEtM SIUSUE OIKIRAY 4123
HESE 70,0003 *5F *13] 350
ODSLHAS BH4Y
70,0002 x12%*13] 840
O3RX(RIHL) 22X TI=H| 150
202 04dl 16,700 16,700
01 =LHOdH] 16,700 16,700
OuUsEHSsU HRFE0H| 16,700
203 AR F=&lY| 5,280 4,800 480
M 2GS HRFAL 5,280 4,800 480
ORN2ILRFA| 5,280
ol 2| 59,035 58,725 310
o2y (DRSS 59,035 58,725 310
101 @124 d| 59,035 58,725 310
03 SR (RIHL) 22X 59,035 58,725 310
OPI== 2,530,810« 1124 & 30,370
oF¥z2Y 2,530,810+ 1 *50%*23| 2,531
OFRY 125,000& *1G 1201 & 1,500
O M 100,000& x1G 1200 & 1,200
OBILY I3
80,0002 * 1+ 1201 = 960
OIELL(BHIRXH) 40,000+ 18 1201 & 480
HAgA| 170,000+ 18 = 1201 & 2,040
OgEAMNZ 2,530, 810% 1 +60%*23| 3,037
OAIZtel=E 22,942x 13 A1 2h 1+ 120 & 3,579
Oxgse 183,540+5. 5L x 1+ 1200 & 12,114
OdItE 4| 122,360x1Z 102! 1,224




